1 ] Trimec S.r.l.
Tu Via Gramsci, 57
Inter CenT 20032 Cormano (Milano) — Italy
1502 3001 Tel. +39 02 66302616 r.a. Fax +39 02 66302638
M 11-0-0200503-TIC info@trimecvalves.com — www.trimecvalves.com

(14) SPV24-12 - Piston valve 3" on 12" tank
DESCRIFTION
Screw TE DIN 933 A2 M6x20
Washer GROWER UNI 1751 A2 M6
1" cover
Conical compression spring ref. 17
1" diaphragm
MTOO55 Screw TE DIN S33 AZ M10x25
MT0OCZ2S Washer GROWER UNI 1750 A2 M10
02460 C SPV cover
QR199-860 |O-RING ext. 128,18 int. 117,5 sp. 5,34
D2238 Rubber shock absorber
D2377 NEW |Cylindrical compression spring SPV
PISTONE-SPV A |Piston
D2448 C Blow pipe mod. K2
GP-SPY-F*/** [Pilot group with ™*/** coil

(1)
(2)

-

[EY EIY RIS RFR RPN PP (Y o AT [ea ] [ (Y (R N P

RlalRE B0~ o |un|bwhe =




